Bid Tabulation: Solicitation 23-C00326/AP Reconstruction and Paving of Royal Highlands & Ridge Manor Roads Project



SECTION A - BLACKBERRY COURT		B.R.W. Cont	racting, INC	C. W. Rober	ts Contractin	DB Civil Con	struction
Line Item Description	Quantity Unit of Measure	, 	Total				Total
MOBILIZATION, DEMOBILIZATION, SPECIAL							
1 PROVISIONS, NPDES N.O.I. and NPDES N.O.T.	1 LS	\$15,000.00	\$15,000.00	\$33,443.00	\$33,443.00	\$12,000.00	\$12,000.00
2 MAINTENANCE OF TRAFFIC	1 LS	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00	\$1,500.00	\$1,500.00
CONSTRUCTION SURVEY IDENTIFICATION (Florida							
3 Registered Surveyor)	1 LS	\$5,000.00	\$5,000.00	\$11,000.00	\$11,000.00	\$3,000.00	\$3,000.00
4 GOPHER TORTOISE SURVEY, MAPPING PERMITTING	1 LS	\$1,100.00	\$1,100.00	\$750.00	\$750.00	\$2,000.00	\$2,000.00
PREVENTION, CONTROL AND ABATEMENT OF							
EROSION & WATER POLLUTION, SILT FENCE (F&I)							
5 (Removal)	355 LF	\$2.00	\$710.00	\$5.75	\$2,041.25	\$1.50	\$532.50
CLEARING and GRUBBING (Includes Sign Relocating,							
Saw-cutting, Asphalt Removal, Concrete Removal,							
6 Windrow Removal, Pipe Removal)	1 LS	\$50,000.00	\$50,000.00	\$26,300.00	\$26,300.00	\$14,000.00	\$14,000.00
MAILBOX / PAPERBOX ASSEMBLIES (F & I) (Includes							
7 House Numbers Both Sides)	1 EA	\$250.00	\$250.00	\$700.00	\$700.00	\$180.00	\$180.00
MAILBOX / PAPERBOX ASSEMBLIES (Remove,							
8 Relocate & Reset)	3 EA	\$150.00	\$450.00	\$200.00	\$600.00	\$60.00	\$180.00
9 TYPE "B" STABILIZATION (23' WIDE)	1304 SY	\$5.00	\$6,520.00	\$10.75	\$14,018.00	\$15.00	\$19,560.00
BORROW EXCAVATION - CLEAN IMPORT FILL							
10 MATERIAL (Truck Ticket Measure) (Field	10 CY	\$30.00	\$300.00	\$560.00	\$5,600.00	\$30.00	\$300.00
11 EXCAVATION (21' ROAD BOX) (3" DEEP)	135 CY	\$20.00	\$2,700.00	\$120.00	\$16,200.00	\$30.00	\$4,050.00
LIMEROCK - NEW MATERIAL, 6" (MIN)							
(COMPACTED) (LBR 100) (w/ PRIME @ 0.10 Gal/Sy)		4		4		4	4
12 (Truck Ticket Measure)	1075 TN	•	\$49,450.00	•	\$59,125.00	•	\$59,125.00
13 SP12.5 ASPHALT (1-3/4") (Traffic "C")	1210 SY	\$17.50	\$21,175.00	\$21.00	\$25,410.00	\$16.00	\$19,360.00
MILLINGS, D/W Tie-Ins, Side Streets (Field	E TNG	4400.00	ģ500 00	ć4 000 00	45.000.00	670.00	6250.00
14 Determined)	5 TNS	\$100.00	\$500.00		\$5,000.00	\$70.00	\$350.00
15 PERFORMANCE TURF, 4' SOD, BAHIA	300 SY	\$4.50	\$1,350.00	\$25.00	\$7,500.00	\$3.00	\$900.00
16 PERFORMANCE TURF, 4' SOD, FLORITAM	325 SY	\$5.50	\$1,787.50	\$30.00	\$9,750.00	\$5.00	\$1,625.00
17 TORTOISE EXLCUSIONARY SILT FENCE (F&I)	150 LF	\$5.00	\$750.00	\$5.00	\$750.00	\$5.00	\$750.00
18 GOPHER TORTOISE BURROWS EXCAVATIONS	3 EA	\$750.00	\$2,250.00	\$750.00	\$2,250.00	\$650.00	\$1,950.00
19 GOPHER TORTOISE RELOCATIONS	3 EA		\$19,500.00			\$550.00	\$1,650.00
20 4" PAINT, DBL SOLID STRIPE, YELLOW	15 LF	\$25.00	\$375.00	\$12.00	\$180.00	\$20.00	\$300.00
21 20" PAINT, SOLID STRIPE, WHITE	11 LF	\$25.00	\$275.00	\$25.00	\$275.00	\$30.00	\$330.00
22 6" THERMOPLASTIC, DBL SOLID STRIPE, YELLOW	15 LF	\$50.00	\$750.00	\$12.00	\$180.00	\$30.00	\$450.00
23 24" THERMOPLASTIC, DBL SOLID STRIPE, WHITE	11 LF	\$75.00	\$825.00	\$25.00	\$275.00	\$50.00	\$550.00
Total			\$186,017.50		\$255,847.25		\$144,642.50

SECTION B - MILGATE COURT		B.R.W. Con	tracting, INC	C. W. Rober	rts Contracting	DB Civil Con	struction
Line Item Description	Quantity Unit of Measur	e Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
MOBILIZATION, DEMOBILIZATION, SPECIAL							
1 PROVISIONS, NPDES N.O.I. and NPDES N.O.T.	1 LS	\$15,000.00	\$15,000.00	\$53,228.00	\$53,228.00	\$20,000.00	\$20,000.00
2 MAINTENANCE OF TRAFFIC	1 LS	\$5,000.00	\$5,000.00	\$22,000.00	\$22,000.00	\$1,500.00	\$1,500.00
CONSTRUCTION SURVEY IDENTIFICATION (Florida							
3 Registered Surveyor)	1 LS	\$5,000.00	\$5,000.00	\$17,000.00	\$17,000.00	\$4,000.00	\$4,000.00
4 GOPHER TORTOISE SURVEY, MAPPING PERMITTING	1 LS	\$1,100.00	\$1,100.00	\$1,100.00	\$1,100.00	\$2,500.00	\$2,500.00
PREVENTION, CONTROL AND ABATEMENT OF							
EROSION & WATER POLLUTION, SILT FENCE (F&I)							
5 (Removal)	816 LF	\$2.00	\$1,632.00	\$4.50	\$3,672.00	\$1.50	\$1,224.00
CLEARING and GRUBBING (Includes Sign Relocating	,						
Saw-cutting, Asphalt Removal, Concrete Removal,							
6 Windrow Removal)	1 LS	\$50,000.00	\$50,000.00	\$40,000.00	\$40,000.00	\$14,500.00	\$14,500.00
MAILBOX / PAPERBOX ASSEMBLIES (F & I) (Include:	S						
7 House Numbers Both Sides)	3 EA	\$250.00	\$750.00	\$700.00	\$2,100.00	\$180.00	\$540.00
MAILBOX / PAPERBOX ASSEMBLIES (Remove,							
8 Relocate & Reset)	11 EA	\$150.00	\$1,650.00	\$200.00	\$2,200.00	\$60.00	\$660.00
9 TYPE "B" STABILIZATION (23' WIDE)	3553 SY	\$5.00	\$17,765.00	\$5.50	\$19,541.50	\$15.00	\$53,295.00
BORROW EXCAVATION - CLEAN IMPORT FILL							
10 MATERIAL (Truck Ticket Measure) (Field	18 CY	\$20.00	\$360.00	•	\$5,940.00	\$30.00	\$540.00
11 EXCAVATION (21' ROAD BOX) (3" DEEP)	570 CY	\$20.00	\$11,400.00	\$55.00	\$31,350.00	\$20.00	\$11,400.00
LIMEROCK - NEW MATERIAL, 6" (MIN)							
(COMPACTED) (LBR 100) (w/ PRIME @ 0.10 Gal/Sy)							
12 (Truck Ticket Measure)	1184 TN	\$45.00	\$53,280.00		\$71,928.00	\$60.00	\$71,040.00
13 SP12.5 ASPHALT (1-3/4") (TRAFFIC "C")	3240 SY	\$17.50	\$56,700.00	\$15.00	\$48,600.00	\$16.00	\$51,840.00
MILLINGS, D/W Tie-Ins, Side Streets (Field							
14 Determined)	12 TNS	\$75.00	\$900.00		\$5,400.00	\$70.00	\$840.00
15 PERFORMANCE TURF, 4' SOD, BAHIA	1115 SY	\$4.50	\$5,017.50		\$12,543.75	\$3.00	\$3,345.00
16 PERFORMANCE TURF, 4' SOD, FLORITAM	325 SY	\$5.50	\$1,787.50		\$9,750.00	\$5.00	\$1,625.00
17 TORTOISE EXLCUSIONARY SILT FENCE (F&I)	350 LF	\$5.00	\$1,750.00		\$1,750.00	\$5.00	\$1,750.00
18 GOPHER TORTOISE BURROWS EXCAVATIONS	3 EA	\$750.00	\$2,250.00		\$2,250.00	\$650.00	\$1,950.00
19 GOPHER TORTOISE RELOCATIONS	3 EA	\$6,500.00	\$19,500.00		\$19,500.00		\$16,500.00
20 4" PAINT, DBL SOLID STRIPE, YELLOW	15 LF	\$15.00	\$225.00		\$180.00	\$20.00	\$300.00
21 20" PAINT, SOLID STRIPE, WHITE	11 LF	\$25.00	\$275.00		\$275.00	\$30.00	\$330.00
22 6" THERMOPLASTIC, DBL SOLID STRIPE, YELLOW	15 LF	\$50.00	\$750.00		\$180.00	\$30.00	\$450.00
23 24" THERMOPLASTIC, SOLID STRIPE, WHITE	11 LF	\$75.00	\$825.00		\$275.00	\$50.00	\$550.00
Total			\$252,917.00		\$370,763.25		\$260,679.00

SECTION C - WARBLER ROAD		B.R.W. Cont	tracting, INC	C. W. Rober	ts Contractin	DB Civil Con	struction
Line Item Description	Quantity Unit of Measu	re Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
MOBILIZATION, DEMOBILIZATION, SPECIAL							
1 PROVISIONS, NPDES N.O.I. and NPDES N.O.T.	1 LS	\$15,000.00	\$15,000.00	\$62,010.00	\$62,010.00	\$22,000.00	\$22,000.00
2 MAINTENANCE OF TRAFFIC	1 LS	\$5,000.00	\$5,000.00	\$50,000.00	\$50,000.00	\$2,000.00	\$2,000.00
CONSTRUCTION SURVEY IDENTIFICATION (Florida							
3 Registered Surveyor)	1 LS	\$7,500.00	\$7,500.00	\$17,000.00	\$17,000.00	\$4,000.00	\$4,000.00
4 GOPHER TORTOISE SURVEY, MAPPING PERMITTING	1 LS	\$1,100.00	\$1,100.00	\$1,100.00	\$1,100.00	\$2,500.00	\$2,500.00
PREVENTION, CONTROL AND ABATEMENT OF							
EROSION & WATER POLLUTION, SILT FENCE (F&I)							
5 (Removal)	1195 LF	\$2.00	\$2,390.00	\$6.00	\$7,170.00	\$1.50	\$1,792.50
CLEARING and GRUBBING (Includes Sign Relocating,							
Saw-cutting, Asphalt Removal, Concrete Removal,							
6 Windrow Removal)	1 LS	\$50,000.00	\$50,000.00	\$36,600.00	\$36,600.00	\$16,000.00	\$16,000.00
MAILBOX / PAPERBOX ASSEMBLIES (F & I) (Includes							
7 House Numbers Both Sides)	3 EA	\$250.00	\$750.00	\$700.00	\$2,100.00	\$180.00	\$540.00
MAILBOX / PAPERBOX ASSEMBLIES (Remove,							
8 Relocate & Reset)	10 EA	\$150.00	\$1,500.00	\$200.00	\$2,000.00	\$60.00	\$600.00
9 TYPE "B" STABILIZATION (23' WIDE)	3555 SY	\$5.00	\$17,775.00	\$5.50	\$19,552.50	\$15.00	\$53,325.00
BORROW EXCAVATION - CLEAN IMPORT FILL							
10 MATERIAL (Truck Ticket Measure) (Field Determined)		\$20.00	\$720.00	\$180.00	\$6,480.00	\$30.00	\$1,080.00
11 EXCAVATION (21' ROAD BOX) (3" DEEP)	318 CY	\$20.00	\$6,360.00	\$85.00	\$27,030.00	\$25.00	\$7,950.00
LIMEROCK - NEW MATERIAL, 6" (MIN) (COMPACTED)							
(LBR 100) (w/ PRIME @ 0.10 Gal/Sy) (Truck Ticket							
12 Measure)	938 TN		\$40,334.00		\$56,983.50		\$56,280.00
13 SP12.5 ASPHALT (1-3/4") (20' WIDE) (TRAFFIC "C")	3078 SY	\$17.50	\$53,865.00	\$15.00	\$46,170.00	\$16.00	\$49,248.00
MILLINGS, D/W Tie-Ins, Side Streets (Field							
14 Determined)	24 TNS	\$75.00	\$1,800.00	\$275.00	\$6,600.00	\$70.00	\$1,680.00
15 PERFORMANCE TURF, 4' SOD, BAHIA	1078 SY	\$4.50	\$4,851.00	\$12.00		\$3.00	\$3,234.00
16 PERFORMANCE TURF, 4' SOD, FLORITAM	500 SY	\$5.50	\$2,750.00			\$5.00	\$2,500.00
17 TORTOISE EXLCUSIONARY SILT FENCE (F&I) (Removal	•	\$5.00	\$3,000.00	\$5.00	\$3,000.00	\$5.00	\$3,000.00
18 GOPHER TORTOISE BURROWS EXCAVATIONS	6 EA	\$750.00	\$4,500.00	\$750.00	\$4,500.00	\$650.00	\$3,900.00
19 GOPHER TORTOISE RELOCATIONS	6 EA	\$6,500.00					\$33,000.00
20 4" PAINT, DBL SOLID STRIPE, YELLOW	30 LF	\$10.00	\$300.00	\$12.00	\$360.00	\$20.00	\$600.00
21 20" PAINT, SOLID STRIPE, WHITE	22 LF	\$25.00	\$550.00		\$550.00	\$30.00	\$660.00
22 6" THERMOPLASTIC, DBL SOLID STRIPE, YELLOW	30 LF	\$50.00	\$1,500.00		\$360.00	\$30.00	\$900.00
23 24" THERMOPLASTIC, SOLID STRIPE, WHITE	22 LF	\$75.00	\$1,650.00		\$550.00	\$50.00	\$1,100.00
Total			\$262,195.00		\$412,552.00		\$267,889.50

SECTION D - PENN STATE ROAD		B.R.W. Con	tracting, INC	C. W. Robe	rts Contractin	DB Civil Cor	struction
Line Item Description	Quantity Unit of Measure			Unit Cost			Total
MOBILIZATION, DEMOBILIZATION, SPECIAL							
1 PROVISIONS, NPDES N.O.I. and NPDES N.O.T.	1 LS	\$15,000.00	\$15,000.00	\$80,775.00	\$80,775.00	\$18,000.00	\$18,000.00
2 MAINTENANCE OF TRAFFIC	1 LS	\$5,000.00	\$5,000.00	\$64,000.00	\$64,000.00	\$2,000.00	\$2,000.00
CONSTRUCTION SURVEY IDENTIFICATION (Florida							
3 Registered Surveyor)	1 LS	\$7,500.00	\$7,500.00	\$22,750.00	\$22,750.00	\$4,000.00	\$4,000.00
4 GOPHER TORTOISE SURVEY, MAPPING PERMITTING	1 LS	\$2,000.00	\$2,000.00	\$1,950.00	\$1,950.00	\$3,500.00	\$3,500.00
PREVENTION, CONTROL AND ABATEMENT OF							
EROSION & WATER POLLUTION, SILT FENCE (F&I)							
5 (Removal)	1083 LF	\$2.00	\$2,166.00	\$6.50	\$7,039.50	\$1.50	\$1,624.50
CLEARING and GRUBBING (Includes Sign Relocating,							
Saw-cutting, Asphalt Removal, Concrete Removal,							
6 Windrow Removal, Pipe Removal)	1 LS	\$50,000.00	\$50,000.00	\$47,500.00	\$47,500.00	\$20,000.00	\$20,000.00
MAILBOX / PAPERBOX ASSEMBLIES (F & I) (Includes							
7 House Numbers Both Sides)	2 EA	\$250.00	\$500.00	\$700.00	\$1,400.00	\$180.00	\$360.00
MAILBOX / PAPERBOX ASSEMBLIES (Remove,							
8 Relocate & Reset)	9 EA	\$150.00	\$1,350.00	\$200.00	\$1,800.00	\$60.00	\$540.00
9 TYPE "B" STABILIZATION (23' WIDE)	7810 SY	\$5.00	\$39,050.00	\$6.10	\$47,641.00	\$15.00	\$117,150.00
BORROW EXCAVATION - CLEAN IMPORT FILL							
10 MATERIAL (Truck Ticket Measure) (Field	36 CY	\$20.00	\$720.00	\$180.00	\$6,480.00		\$1,080.00
11 EXCAVATION (21' ROAD BOX) (3" DEEP)	601 CY	\$20.00	\$12,020.00	\$70.00	\$42,070.00	\$20.00	\$12,020.00
LIMEROCK - NEW MATERIAL, 6" (MIN)							
(COMPACTED) (LBR 100) (w/ PRIME @ 0.10 Gal/Sy)							
12 (Truck Ticket Measure)	2092 TN	\$45.00	\$94,140.00	\$60.00	\$125,520.00	\$60.00	\$125,520.00
13 SP12.5 ASPHALT (1-3/4") (TRAFFIC "C")	6890 SY	\$17.50	\$120,575.00	\$15.00	\$103,350.00	\$15.00	\$103,350.00
MILLINGS, D/W Tie-Ins, Side Streets (Field							
14 Determined)	36 TNS	\$75.00	\$2,700.00		\$12,060.00		
15 PERFORMANCE TURF, 4' SOD, BAHIA	2624 SY	\$4.50	\$11,808.00		\$15,744.00		\$7,872.00
16 PERFORMANCE TURF, 4' SOD, FLORITAM	500 SY	\$5.50	. ,				
17 TORTOISE EXLCUSIONARY SILT FENCE (F&I)	300 LF	\$5.00	. ,		. ,		
18 GOPHER TORTOISE BURROWS EXCAVATIONS	3 EA	\$750.00	\$2,250.00		\$2,250.00	\$650.00	\$1,950.00
19 GOPHER TORTOISE RELOCATIONS	3 EA	\$6,500.00	\$19,500.00	\$6,500.00	\$19,500.00	\$5,500.00	\$16,500.00
20 4" PAINT, DBL SOLID STRIPE, YELLOW	120 LF	\$10.00	\$1,200.00		\$1,440.00		\$1,800.00
21 20" PAINT, SOLID STRIPE, WHITE	112 LF	\$20.00	\$2,240.00		\$2,800.00		\$2,240.00
22 6" THERMOPLASTIC, DBL SOLID STRIPE, YELLOW	120 LF	\$15.00	\$1,800.00		\$1,440.00		\$2,400.00
23 24" THERMOPLASTIC, SOLID STRIPE, WHITE	112 LF	\$25.00	\$2,800.00	\$25.00			\$4,480.00
Total			\$398,569.00		\$622,309.50		\$452,906.50

SECTION E - SCAUP DUCK AVENUE		B.R.W. Con	tracting, INC	C. W. Robei	rts Contractin	DB Civil Con	struction
Line Item Description	Quantity Unit of Measur	e Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
MOBILIZATION, DEMOBILIZATION, SPECIAL							
1 PROVISIONS, NPDES N.O.I. and NPDES N.O.T.	1 LS	\$15,000.00	\$15,000.00	\$80,775.00	\$80,775.00	\$20,000.00	\$20,000.00
2 MAINTENANCE OF TRAFFIC	1 LS	\$5,000.00	\$5,000.00	\$64,000.00	\$64,000.00	\$2,000.00	\$2,000.00
CONSTRUCTION SURVEY IDENTIFICATION (Florida							
3 Registered Surveyor)	1 LS	\$7,500.00	\$7,500.00	\$22,750.00	\$22,750.00	\$5,000.00	\$5,000.00
4 GOPHER TORTOISE SURVEY, MAPPING PERMITTING	1 LS	\$2,000.00	\$2,000.00	\$1,950.00	\$1,950.00	\$4,000.00	\$4,000.00
PREVENTION, CONTROL AND ABATEMENT OF							
EROSION & WATER POLLUTION, SILT FENCE (F&I)							
5 (Removal)	840 LF	\$2.00	\$1,680.00	\$4.90	\$4,116.00	\$1.50	\$1,260.00
CLEARING and GRUBBING (Includes Sign Relocating,							
Saw-cutting, Asphalt Removal, Concrete Removal,							
6 Windrow Removal)	1 LS	\$50,000.00	\$50,000.00	\$46,320.00	\$46,320.00	\$20,000.00	\$20,000.00
MAILBOX / PAPERBOX ASSEMBLIES (F & I) (includes							
7 House Numbers Both Sides)	2 EA	\$250.00	\$500.00	\$700.00	\$1,400.00	\$180.00	\$360.00
MAILBOX / PAPERBOX ASSEMBLIES (Remove,							
8 Relocate & Reset)	9 EA	\$150.00	\$1,350.00	\$200.00			\$540.00
9 TYPE "B" STABILIZATION (23' WIDE)	7929 SY	\$5.00	\$39,645.00	\$6.00	\$47,574.00	\$15.00	\$118,935.00
BORROW EXCAVATION - CLEAN IMPORT FILL							
10 MATERIAL (Truck Ticket Measure) (Field	36 CY	\$20.00	\$720.00	\$180.00			\$1,080.00
11 EXCAVATION (21' ROAD BOX) (3" DEEP)	608 CY	\$20.00	\$12,160.00	\$78.00	\$47,424.00	\$20.00	\$12,160.00
LIMEROCK - NEW MATERIAL, 6" (MIN)							
(COMPACTED) (LBR 100) (w/ PRIME @ 0.10 Gal/Sy)							
12 (Truck Ticket Measure)	2116 TN		\$95,220.00		\$126,431.00		\$126,960.00
13 SP12.5 ASPHALT (1-3/4") (TRAFFIC "C")	6956 SY	\$17.50	\$121,730.00	\$15.00	\$104,340.00	\$15.00	\$104,340.00
MILLINGS, D/W Tie-Ins, Side Streets (Field							
14 Determined)	36 TNS	\$75.00	\$2,700.00		\$12,060.00		\$2,520.00
15 PERFORMANCE TURF, 4' SOD, BAHIA	2450 SY	\$4.50			\$14,700.00		\$7,350.00
16 PERFORMANCE TURF, 4' SOD, FLORITAM	500 SY	\$5.50	\$2,750.00		\$10,500.00	•	\$2,500.00
17 TORTOISE EXLCUSIONARY SILT FENCE (F&I)	300 LF	\$5.00	\$1,500.00		. ,	\$5.00	\$1,500.00
18 GOPHER TORTOISE BURROWS EXCAVATIONS	3 EA	\$750.00	\$2,250.00			\$650.00	\$1,950.00
19 GOPHER TORTOISE RELOCATIONS	3 EA	\$6,500.00					\$16,500.00
20 4" PAINT, DBL SOLID STRIPE, YELLOW	60 LF	\$10.00	\$600.00		\$720.00	\$20.00	\$1,200.00
21 20" PAINT, SOLID STRIPE, WHITE	56 LF	\$20.00	\$1,120.00	\$25.00		\$30.00	\$1,680.00
22 6" THERMOPLASTIC, DBL SOLID STRIPE, YELLOW	60 LF	\$15.00	\$900.00	\$12.00		\$30.00	\$1,800.00
23 24" THERMOPLASTIC, SOLID STRIPE, WHITE	56 LF	\$25.00	\$1,400.00	\$25.00		\$40.00	\$2,240.00
Total			\$396,250.00		\$620,110.00		\$455,875.00

SECTION F - ARBOR STREET		B.R.W. Cont	racting, INC	C. W. Rober	ts Contractin	DB Civil Con	struction
Line Item Description	Quantity Unit	of Measure Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
MOBILIZATION, DEMOBILIZATION, SPECIAL							
1 PROVISIONS, NPDES N.O.I. and NPDES N.O.T.	1 LS	\$20,000.00	\$20,000.00	\$89,333.00	\$89,333.00	\$24,000.00	\$24,000.00
CONSTRUCTION SURVEY IDENTIFICATION (Florida							
2 Registered Surveyor)	1 LS	\$7,500.00	\$7,500.00	\$22,750.00	\$22,750.00	\$6,000.00	\$6,000.00
3 MAINTENANCE OF TRAFFIC	1 LS	\$5,000.00	\$5,000.00	\$66,755.00	\$66,755.00	\$2,000.00	\$2,000.00
4 GOPHER TORTOISE SURVEY, MAPPING PERMITTING	1 LS	\$2,250.00	\$2,250.00	\$2,150.00	\$2,150.00	\$3,500.00	\$3,500.00
5 TORTOISE EXLCUSIONARY SILT FENCE (F&I) (Removal) 300 LF	\$5.00	\$1,500.00	\$5.00	\$1,500.00	\$5.00	\$1,500.00
6 GOPHER TORTOISE BURROWS EXCAVATIONS	5 EA	\$750.00	\$3,750.00	\$750.00	\$3,750.00	\$650.00	\$3,250.00
7 GOPHER TORTOISE RELOCATIONS	5 EA	\$6,500.00	\$32,500.00	\$6,500.00	\$32,500.00	\$5,500.00	\$27,500.00
CLEARING and GRUBBING (Includes Water Blasting,							
Milling, Sign Relocating, Saw-cutting, Asphalt							
Removal, Concrete Removal, Windrow Removal,							
8 Edging)	1 LS	\$50,000.00	\$50,000.00	\$49,700.00	\$49,700.00	\$36,000.00	\$36,000.00
PREVENTION, CONTROL AND ABATEMENT OF							
EROSION & WATER POLLUTION, SILT FENCE (F&I)							
9 (Removal)	3065 LF	\$2.00	\$6,130.00	\$3.75	\$11,493.75	\$1.50	\$4,597.50
10 TYPE "B" STABILIZATION	7810 SY	\$5.00	\$39,050.00	\$5.50	\$42,955.00	\$15.00	\$117,150.00
BORROW EXCAVATION - CLEAN IMPORT FILL							
11 MATERIAL (Truck Ticket Measure) (Field Determined)	36 CY	\$20.00	\$720.00	\$180.00	\$6,480.00	\$30.00	\$1,080.00
12 EXCAVATION (21' ROAD BOX) (3" DEEP)	600 CY	\$20.00	\$12,000.00	\$60.00	\$36,000.00	\$20.00	\$12,000.00
LIMEROCK - NEW MATERIAL, 6" (MIN) (COMPACTED)							
(LBR 100) (w/ PRIME @ 0.10 Gal/Sy) (Truck Ticket							
13 Measure)	2244 TN	\$40.00	\$89,760.00	\$54.00	\$121,176.00	\$60.00	\$134,640.00
14 SP12.5 ASPHALT (1-3/4") (Traffic "C")	710 TNS	\$166.00	\$117,860.00	\$140.00	\$99,400.00	\$140.00	\$99,400.00
MILLINGS, D/W Tie-Ins, Side Streets (Field							
15 Determined)	36 TNS	\$75.00	\$2,700.00	\$335.00	\$12,060.00	\$70.00	\$2,520.00
MAILBOX / PAPERBOX ASSEMBLIES (F & I) (Includes							
16 House Numbers Both Sides)	4 EA	\$250.00	\$1,000.00	\$700.00	\$2,800.00	\$180.00	\$720.00
MAILBOX / PAPERBOX ASSEMBLIES (Remove,							
17 Relocate & Reset)	11 EA	\$150.00	\$1,650.00	\$200.00	\$2,200.00	\$60.00	\$660.00
18 PERFORMANCE TURF, SOD, BAHIA	10670 SY	\$4.50	\$48,015.00	\$4.60	\$49,082.00	\$3.00	\$32,010.00
19 PERFORMANCE TURF, SOD, FLORITAM	2500 SY	\$5.50	\$13,750.00	\$21.00	\$52,500.00	\$5.00	\$12,500.00
20 20" PAINT, SOLID STRIPE, WHITE	56 LF	\$10.00	\$560.00	\$10.00	\$560.00	\$20.00	\$1,120.00
21 24" THERMOPLASTIC, SOLID STRIPE, WHITE	56 LF	\$20.00	\$1,120.00		\$1,120.00	\$40.00	\$2,240.00
22 4" PAINT, DBL. SOLID STRIPE, YELLOW	60 LF	\$15.00	\$900.00		\$600.00	\$20.00	\$1,200.00
23 6" THERMOPLASTIC, DBL. SOLID STRIPE, YELLOW	60 LF	\$25.00	\$1,500.00	\$20.00	\$1,200.00	\$30.00	\$1,800.00
Total			\$459,215.00		\$708,064.75		\$527,387.50

SECTION G - EMERALD DRIVE		B.R.W. Contracting, INC		C. W. Roberts Contracting, I		DB Civil Cor	struction
Line Item Description	Quantity Unit of Measu	re Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
MOBILIZATION, DEMOBILIZATION, SPECIAL							
1 PROVISIONS, NPDES N.O.I. and NPDES N.O.T.	1 LS	\$20,000.00	\$20,000.00	\$104,624.00	\$104,624.00	\$35,000.00	\$35,000.00
CONSTRUCTION SURVEY IDENTIFICATION (Florida							
2 Registered Surveyor)	1 LS	\$7,500.00	\$7,500.00	\$28,500.00	\$28,500.00	\$8,000.00	\$8,000.00
3 MAINTENANCE OF TRAFFIC	1 LS	\$5,000.00	\$5,000.00	\$85,400.00	\$85,400.00	\$4,000.00	\$4,000.00
4 GOPHER TORTOISE SURVEY, MAPPING PERMITTING	1 LS	\$750.00	\$750.00	\$2,300.00	\$2,300.00	\$4,500.00	\$4,500.00
5 TORTOISE EXLCUSIONARY SILT FENCE (F&I) (Removal)	300 LF	\$5.00	\$1,500.00	\$5.00	\$1,500.00	\$5.00	\$1,500.00
6 GOPHER TORTOISE BURROWS EXCAVATIONS	5 EA	\$750.00	\$3,750.00	\$750.00	\$3,750.00	\$650.00	\$3,250.00
7 GOPHER TORTOISE RELOCATIONS	5 EA	\$6,500.00	\$32,500.00	\$6,500.00	\$32,500.00	\$5,500.00	\$27,500.00
CLEARING and GRUBBING (Includes Water Blasting,							
Milling, Sign Relocating, Saw-cutting, Asphalt							
Removal, Concrete Removal, Windrow Removal,							
8 Edging)	1 LS	\$50,000.00	\$50,000.00	\$68,887.00	\$68,887.00	\$45,000.00	\$45,000.00
PREVENTION, CONTROL AND ABATEMENT OF							
EROSION & WATER POLLUTION, SILT FENCE (F&I)							
9 (Removal)	1739 LF	\$2.00	\$3,478.00	\$5.90	\$10,260.10	\$1.50	\$2,608.50
10 TYPE "B" STABILIZATION	9557 SY	\$5.00	\$47,785.00	\$6.00	\$57,342.00	\$15.00	\$143,355.00
BORROW EXCAVATION - CLEAN IMPORT FILL							
11 MATERIAL (Truck Ticket Measure) (Field Determined)	36 CY	\$20.00	\$720.00	\$180.00	\$6,480.00	\$30.00	\$1,080.00
12 EXCAVATION (21' ROAD BOX) (3" DEEP)	732 CY	\$20.00	\$14,640.00	\$60.00	\$43,920.00	\$20.00	\$14,640.00
LIMEROCK - NEW MATERIAL, 6" (MIN) (COMPACTED)							
(LBR 100) (w/ PRIME @ 0.10 Gal/Sy) (Truck Ticket							
13 Measure)	2744 TN	\$40.00	\$109,760.00	\$54.00	\$148,176.00	\$60.00	\$164,640.00
14 SP12.5 ASPHALT (1-3/4") (Traffic "C")	868 TNS	\$166.00	\$144,088.00	\$140.00	\$121,520.00	\$140.00	\$121,520.00
MILLINGS, D/W Tie-Ins, Side Streets (Field							
15 Determined)	36 TNS	\$75.00	\$2,700.00	\$335.00	\$12,060.00	\$70.00	\$2,520.00
MAILBOX / PAPERBOX ASSEMBLIES (F & I) (Includes							
16 House Numbers Both Sides)	5 EA	\$250.00	\$1,250.00	\$700.00	\$3,500.00	\$180.00	\$900.00
MAILBOX / PAPERBOX ASSEMBLIES (Remove,							
17 Relocate & Reset)	13 EA	\$150.00	\$1,950.00	\$200.00	\$2,600.00	\$60.00	\$780.00
18 PERFORMANCE TURF, SOD, BAHIA	13090 SY	\$4.50	\$58,905.00	\$4.60	\$60,214.00	\$3.00	\$39,270.00
19 PERFORMANCE TURF, SOD, FLORITAM	2500 SY	\$5.50	\$13,750.00	\$21.00	\$52,500.00	\$5.00	\$12,500.00
20 20" PAINT, SOLID STRIPE, WHITE	70 LF	\$10.00	\$700.00	\$10.00	\$700.00	\$30.00	\$2,100.00
21 24" THERMOPLASTIC, SOLID STRIPE, WHITE	70 LF	\$20.00	\$1,400.00	\$20.00	\$1,400.00	\$40.00	\$2,800.00
22 4" PAINT, DBL. SOLID STRIPE, YELLOW	85 LF	\$15.00	\$1,275.00	\$10.00	\$850.00	\$20.00	\$1,700.00
23 6" THERMOPLASTIC, DBL. SOLID STRIPE, YELLOW	85 LF	\$25.00	\$2,125.00	\$20.00	\$1,700.00	\$30.00	\$2,550.00
Total			\$525,526.00		\$850,683.10		\$641,713.50

SECTION H - GLENCHESTER DRIVE		B.R.W. Con	tracting, INC	C. W. Robert	s Contracting, I	DB Civil Cor	struction
Line Item Description	Quantity Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
MOBILIZATION, DEMOBILIZATION, SPECIAL							
1 PROVISIONS, NPDES N.O.I. and NPDES N.O.T.	1 LS	\$25,000.00	\$25,000.00	\$135,827.00	\$135,827.00	\$40,000.00	\$40,000.00
CONSTRUCTION SURVEY IDENTIFICATION (Florida							
2 Registered Surveyor)	1 LS	\$10,000.00	\$10,000.00	\$45,724.00	\$45,724.00	\$10,000.00	\$10,000.00
3 MAINTENANCE OF TRAFFIC	1 LS	\$7,500.00	\$7,500.00	\$109,472.00	\$109,472.00	\$4,000.00	\$4,000.00
4 GOPHER TORTOISE SURVEY, MAPPING PERMITTING	1 LS	\$750.00	\$750.00	\$3,300.00	\$3,300.00	\$5,500.00	\$5,500.00
5 TORTOISE EXLCUSIONARY SILT FENCE (F&I) (Removal)	700 LF	\$5.00	\$3,500.00	\$5.00	\$3,500.00	\$5.00	\$3,500.00
6 GOPHER TORTOISE BURROWS EXCAVATIONS	9 EA	\$750.00	\$6,750.00	\$750.00	\$6,750.00	\$650.00	\$5,850.00
7 GOPHER TORTOISE RELOCATIONS	9 EA	\$6,500.00	\$58,500.00	\$6,500.00	\$58,500.00	\$5,500.00	\$49,500.00
CLEARING and GRUBBING (Includes Water Blasting,							
Milling, Sign Relocating, Saw-cutting, Asphalt							
Removal, Concrete Removal, Windrow Removal,							
8 Edging)	1 LS	\$50,000.00	\$50,000.00	\$126,088.00	\$126,088.00	\$67,000.00	\$67,000.00
PREVENTION, CONTROL AND ABATEMENT OF							
EROSION & WATER POLLUTION, SILT FENCE (F&I)							
9 (Removal)	5235 LF	\$2.00	\$10,470.00		. ,	\$1.50	\$7,852.50
10 TYPE "B" STABILIZATION	19463 SY	\$5.00	\$97,315.00	\$4.69	\$91,281.47	\$16.00	\$311,408.00
BORROW EXCAVATION - CLEAN IMPORT FILL							
11 MATERIAL (Truck Ticket Measure) (Field Determined)	36 CY	\$20.00	\$720.00			\$30.00	\$1,080.00
12 EXCAVATION (21' ROAD BOX) (3" DEEP)	1488 CY	\$20.00	\$29,760.00	\$50.00	\$74,400.00	\$20.00	\$29,760.00
LIMEROCK - NEW MATERIAL, 6" (MIN) (COMPACTED)							
(LBR 100) (w/ PRIME @ 0.10 Gal/Sy) (Truck Ticket							
13 Measure)	5586 TN	•	\$217,854.00	•	. ,	\$60.00	\$335,160.00
14 SP12.5 ASPHALT (1-3/4") (Traffic "C")	1767 TNS	\$166.00	\$293,322.00	\$140.00	\$247,380.00	\$140.00	\$247,380.00
MILLINGS, D/W Tie-Ins, Side Streets (Field							
15 Determined)	54 TNS	\$75.00	\$4,050.00	\$335.00	\$18,090.00	\$70.00	\$3,780.00
MAILBOX / PAPERBOX ASSEMBLIES (F & I) (Includes			4	4	4	4	
16 House Numbers Both Sides)	5 EA	\$250.00	\$1,250.00	\$700.00	\$3,500.00	\$180.00	\$900.00
MAILBOX / PAPERBOX ASSEMBLIES (Remove,		4	4		4	4	4
17 Relocate & Reset)	12 EA	\$150.00	\$1,800.00			\$60.00	\$720.00
18 PERFORMANCE TURF, SOD, BAHIA	27060 SY	•	\$121,770.00	•	. ,	\$3.00	\$81,180.00
19 PERFORMANCE TURF, SOD, FLORITAM	3500 SY	\$5.50	\$19,250.00	•		\$5.00	\$17,500.00
20 20" PAINT, SOLID STRIPE, WHITE	126 LF	\$10.00	\$1,260.00			\$20.00	\$2,520.00
21 24" THERMOPLASTIC, SOLID STRIPE, WHITE	126 LF	\$15.00	\$1,890.00	•	. ,	\$40.00	\$5,040.00
22 4" PAINT, DBL. SOLID STRIPE, YELLOW	135 LF	\$15.00	\$2,025.00			\$15.00	\$2,025.00
23 6" THERMOPLASTIC, DBL. SOLID STRIPE, YELLOW	135 LF	\$20.00	\$2,700.00			\$20.00	\$2,700.00
Total			\$967,436.00		\$1,423,930.47		\$1,234,355.50

SECTION I - NODOC DRIVE		B.R.W. Cont	racting, INC	C. W. Robert	s Contracting, I	DB Civil Con	struction
ine Item Description	Quantity Unit of Me			Unit Cost			Total
MOBILIZATION, DEMOBILIZATION, SPECIAL							
1 PROVISIONS, NPDES N.O.I. and NPDES N.O.T.	1 LS	\$20,000.00	\$20,000.00	\$196,661.00	\$196,661.00	\$40,000.00	\$40,000.00
2 MAINTENANCE OF TRAFFIC	1 LS	\$5,000.00	\$5,000.00	\$115,450.00	\$115,450.00	\$3,000.00	\$3,000.00
3 GOPHER TORTOISE SURVEY, MAPPING PERMITTING	1 LS	\$750.00	\$750.00	\$2,300.00	\$2,300.00	\$4,000.00	\$4,000.00
4 TORTOISE EXLCUSIONARY SILT FENCE (F&I) (Removal)	300 LF	\$5.00	\$1,500.00	\$5.00	\$1,500.00	\$5.00	\$1,500.00
5 GOPHER TORTOISE BURROWS EXCAVATIONS	3 EA	\$750.00	\$2,250.00	\$750.00	\$2,250.00	\$650.00	\$1,950.00
6 GOPHER TORTOISE RELOCATIONS	3 EA	\$6,500.00	\$19,500.00	\$6,500.00	\$19,500.00	\$5,500.00	\$16,500.00
CLEARING and GRUBBING (Includes Water Blasting,							
Sign Removal and/or Relocating, Saw-cutting, Asphal	t						
Removal, Concrete Removal, Soil Cement Removal,							
Millings Removal, Windrow Removal, Edging, Water							
7 Vaccuum Cleaning Pipes)	1 LS	\$75,000.00	\$75,000.00	\$94,362.00	\$94,362.00	\$57,000.00	\$57,000.00
LOWER ROAD EXCAVATING (TRANSITION &							
8 EXCAVATION)	1 LS	\$5,000.00	\$5,000.00	\$47,200.00	\$47,200.00	\$5,000.00	\$5,000.00
PREVENTION, CONTROL AND ABATEMENT OF							
EROSION & WATER POLLUTION, SILT FENCE (F&I)							
9 (Removal)	1270 LF	\$2.00	\$2,540.00	\$5.50	\$6,985.00	\$1.50	\$1,905.00
10 TYPE "B" STABILIZATION	9064 SY	\$5.00	\$45,320.00	\$11.50	\$104,236.00	\$16.00	\$145,024.00
BORROW EXCAVATION - CLEAN IMPORT FILL							
11 MATERIAL (Truck Ticket Measure) (Field Determined)	36 CY	\$20.00	\$720.00	\$180.00	\$6,480.00	\$30.00	\$1,080.00
12 EXCAVATION (21' ROAD BOX) (3" DEEP)	756 CY	\$20.00	\$15,120.00	\$69.00	\$52,164.00	\$22.00	\$16,632.00
LIMEROCK - NEW MATERIAL, 4" (MIN) (COMPACTED)							
(LBR 100) (w/ PRIME @ 0.10 Gal/Sy) (Truck Ticket							
13 Measure)	112 TN	\$42.50	\$4,760.00	\$120.00	\$13,440.00	\$60.00	\$6,720.00
LIMEROCK - NEW MATERIAL, 6" (MIN) (COMPACTED)							
(LBR 100) (w/ PRIME @ 0.10 Gal/Sy) (Truck Ticket							
14 Measure)	2990 TN		\$127,075.00	\$54.25	\$162,207.50		\$179,400.00
15 SP12.5 ASPHALT (1-3/4") (MIN) (Traffic "C")	784 TNS	\$166.00	\$130,144.00	\$175.00	\$137,200.00	\$150.00	\$117,600.00
ASPHALT FLUME, SP12.5 ASPHALT (1-3/4") (Traffic							
16 "C")	1 LS	\$41,000.00	\$41,000.00	\$42,000.00	\$42,000.00	\$40,000.00	\$40,000.00
MILLINGS, D/W Tie-Ins, Side Streets (Field				_			_
17 Determined)	36 TNS	\$75.00	\$2,700.00	\$335.00	\$12,060.00	\$70.00	\$2,520.00
MAILBOX / PAPERBOX ASSEMBLIES (F & I) (Includes				_			
18 House Numbers Both Sides)	5 EA	\$250.00	\$1,250.00	\$950.00	\$4,750.00	\$180.00	\$900.00
MAILBOX / PAPERBOX ASSEMBLIES (Remove,				_			
19 Relocate & Reset)	24 EA	\$150.00	\$3,600.00	\$250.00	\$6,000.00	\$60.00	\$1,440.00
20 PERFORMANCE TURF, SOD, BAHIA	12000 SY	•	\$54,000.00	\$5.75	\$69,000.00	\$3.00	. ,
21 PERFORMANCE TURF, SOD, FLORITAM	800 SY	\$5.50	\$4,400.00	\$25.00	\$20,000.00	\$5.00	. ,
22 SIGN ASSEMBLY, NEW	10 EA	\$500.00	\$5,000.00	\$650.00	\$6,500.00	\$500.00	\$5,000.00
Total			\$566,629.00		\$1,122,245.50		\$687,171.00